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>>> print(x)
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>>>x =100
>>>y =200
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>>>x =100
>>>y =200

>>>sum =X +y
>>> print(sum)
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>>>name ="E2 =
>>> gddress = "A 2

>>> print(hname)
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>>> print(address)
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»> X =7

»>y =6

>»> print(x + y)
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score = 10
score = score + 1
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x =100

y =200

sum=x+y

print(x, "1t", y, "2 &2", sum, " LIC}.")
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print(x, "2t", y, " g2", sum, "RLC}.)
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import turtle

t = turtle. Turtle()

t.shape("turtle")

radius = 100

t.circle(radius) # 2t Xl

t.fd(30)

t.circle(radius) # Bt Xl

t.fd(30)

t.circle(radius) # Bt Xl
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radius = 180

t.circle(100) t.circle(radius)
t.fd(30) t.fd(30)
t.circle(100) t.circle(radius)
t.fd(30) t.fd(30)
t.circle(180) t.circle(radius)
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import turtle
t = turtle. Turtle()
t.shape("turtle")

radius = 50

t.circle(radius) # BtX| S 0| 502! & 0| Z1J4 &ICH.
t.fd(30)

t.circle(radius) # BtX|E0| 502! & 0| Z1J4 &ICH.
t.fd(30)

t.circle(radius) # EtX| & 0] 50! & 0| 1A &
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x = int(input("X B =5 Y =HotAI2: "))
y =int(input("S B H 5 LSEGHAIL2: ")
sum=x+y

print(x, "4t", y, "2 2", sum, "& L|C}.")
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Python Turtle Graphic:

import turtle
t = turtle. Turtle()

I t.shape("turtle")

size = int(input("Le! 37k °°rE B2y v))

t.forward(size) # size “I3 "5°15 TN
t.right(90) # ™M5°I5 22522 gQF RN
t.forward(size)

t.right(90)

t.forward(size)

t.right(90)

t.forward(size)

t.right(90)

t.forward(size)
t.left(120)
t.forward(size)
t.left(120)
t.forward(size)
t.left(120)
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Solution

#AEXS HES B0 M& STt
stadium = input("Z 1 &2 O CI & LIDF?")
winner = input("O| 2! &2 O CI & LIDH")
loser = input("&l €l 2 Of CI & LIDH?")

vip = input("S=8 == =L LI
score = input("A D H= ZOHZE L LIDE?"

#HQ 2AE2 HAZ6IH JIALE &S,
print("")

print("2 =", stadium, "0l A OF2 ZJ[Jt
print(winner, "1t", loser, "2 X & SYNS
print(vip, "0| W&F= StASLICE")

n=n

print("Z =", winner,"J}", loser,"E ", score,"Z 0| A S LICE")
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